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~1. The average normal temperature of | 4. To detect forgery in documents

human body on Celsius scale is
(1) 30°C

(2) 40°C

(3) 36.9°C

(4) 98.4°C

n

2. Sound waves cannof travel 1o
(1) vacuum
(2) air

(3) water

(4) iron 6

3. A satellite moving in an orbit in an
equatorial plane round the earth will
appear to remain in the same place above
the earth if its period of revolution 18 7
(1) 16 hours
(2) 24 hours

(3) 48 hours

(4) 365 days
ACF-TI (3-C

rays are used.
(1) cosmic
(2) gamma
(3) nfrared

(4) ulira violet

. The liquid mercury used in thermometers

1sa

(1) semiconductor
(2) superconductor
(3) metal

(4) non-metal

. The soil is mixed with lime to

(1) decrease the pH
(2) increase the pH
(3) i.n crease the fertility

(4) increase the salt content

. 'The low dissolved oxygen content of a

water sample indicates its
(1) purity

(2) pollution

(3) low boiling point

(4) hugh botling point
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*Q. German silver is an alloy of the metals

10.

ACF-11

(1) germaniumand silver
(2) copper, tin and zin¢
(3) zinc and silver

(4) copper, zinc and nickel

Bacteria cannot survive in a highly salted

pickle because

(1) The pickle does not contain auy
nutrients necessarv for bacteria to
live

(2) Saltinhibits reproduction

(3) They get plasmolysed and are
consequently killed

(4) Saltin the pickle decreases the
temperature and thus
multiplication is completely

prevented

The harmful process of the disease caused
by the pathogen results in abnormal
physiological or morphological conditions
in the whole ptant or a part is called

(1) Pathogenecity

(2) Malformation

(3) Eticlogy

(4) Symptoms

11.

12.

Meiosis division is very important in an
organism to maintain the consfant
number of chromosomes, generation
after generations, it involves two

successive divisions namely

(1) One reduction division and one
celidivision

2) One reduction division and one
nuclear division

(3) One equatorial division and one
somatic division

(4) One reduction division and one

mitotic division

According to one of the most accepted
theory, the earths atmosphere before any
life had originated, consisted of water
vapour, hydrogen, ammonia and

{1) Methane

(2) Niwogen

(3) Oxvgen

(4y Carbon-di-oxide

. Epilepsy is caused due to the problem

n

(1) Heart
(2) Kidney
(3) Brain
(4) Lung
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t4. Which of the following 1s an 1nnate 18. Indiaisamegadiversity country with
behaviour ? _

(1) Selective learning (1) 4 Ecological Hotspots

(2) Insightlearning . .

(2) 3 Ecological Hotspots

(3) Instincts

(4) Classical conditioning (3) 2 Ecological Hotspots

15. Human sperm nueleus contains (4) & Ecological Hotspots

(1) 23 autosomes and one sex

chromosome 19. Which one of the following 1s a Heritage
(2) 22 autosomes and two sex _
Site ?
chromosome
(3) 22 autosomes and one sex (1) Kaziranga Nationa! Park
chromosome

(2) Nandadevi National Park
(4) 23 autosomes

(3) Sundarban National Park
16. Cellular respiration takes place in

(1) Golgi body (4) Keoladeo National Park
(2) Lysosome

(3) Mitochondria 20, In 1978, worlds most notorious and

(4) Ribosome infamous soil pollution occurred in

17. Which of the following is a green-house (1) Chemobyl
gas ?
(1) Nitrogen (2) Bhopal

(2) Methane (3) Love Canal

(3) Oxygen

(4) Carbon monoxide (4) Smatler
ACE-1I a0
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91. The first term and common difference

23.

24.

ACF-1I

of an arithmetic progression (A.P.) are
respectively equal to the first term and
common ratio of a geometric progression
(G.P.). If the sum of the first four terms
of the A.P.and G.P.arein theratio2:3
and the common ratio is 2 then the first
termis

(v 4
(3) 2

23
@1

. The net income of a business man after

paying income tax at the rate of 5% is
Rs. 2.,09,000. Then his gross income 18

(1) 2,50,000 2y 2,69,000
(3) 2,49,800 (4) 2,20,000
A merchant bought 222 kgs of
vegetables for Rs. 2,400 including tax
and spent Rs. 100 for transportation.
22 kgs of them were spoiled. He sold

the remaining at Rs. 15 per kg. The gain
or loss percent is

(1) 20% profit
(3} 5% loss

(2) 2% profit

@) 2% loss

A T.V.is sold in four instalments. Each
successive instalinent is one and half
times the preceding instalment. If the

second instalment is Rs. 3,000, then the
cost of the T.V.1s

(1) Rs. 24,375 (2) Rs. 16,250
(3) Rs. 17,625 (4) Rs. 20,000

-

26.

27.

28.

75 If the face value of each share 1s

1
Rs. 100 and the brokerage is 1 % then

the proceeds go by selling shares worth

1
Rs. 1,20,000 at.96z (including

brokerage)1s

(1) 1,10,000  (2) 1,15,000

(3) 1,15,200 (4) 90,000

Ahorse runs at the speed of 22.5 km/hour

covers a distance of 4.05 km. The time
taken by the horse is

(1) 10.8 minutes

(2) 1.8 munutes

(3) 21.6 minutes

(4) 1 minute

If a, b, c, are in harmonic progreséion
and %, %), %+2 are in geometric
progression, then a, b, ¢, are

(1) 2,4,6

® % Yo
® Yo Yok

4 1,2,3
* is the missing digit in the 7 digit number

4*8*8%4 If this number is divisible by
11, the missing digit s

(1) 1 )2
(3) 4 ) 8
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31

32.
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A train travelling at a constant speed
covers a distance of 320 km in 6 hours
40 minutes. The distance covered by

the trainin | hour 15 minutes is
(1) 320km (2} 120 km
(3) 100km 4y 60 km

. 42 men camn Rs. 8,400 as wages working

for 10 hours a day. The earnings of 50
men working for 12 hours aday if they
are atl paid at the same hourly rate is

(1) Rs. 6,000

(2} Rs. 12,000

(3) Rs. 18,000

(4) Rs. 24,000

A printer is sold at a profit of 12%%
tor Rs. 4,500. Its cost price is

(1) Rs. 4,225

(2) Rs. 4,000

(3) Rs. 3,750

(4) Rs. 3,000

Identify the wrong one in the following

m-+n

(1) a¥xa" =a
(2) (am)nx(a”)m.__ g 2em
(3) [«’im cat =

(4) [a”"' - a"

(1l -

33.

34.

36.

The diameter of a circle is equal to the
side of a square. Then the ratio of their
areas is
(hy m:4
(3) n:16

(2) w:8
4) m:2
The compound interest on a sum of

Rs. 10,000 for two years at the rate of
5% pa.is

(1) Rs. 11,500
(2) Rs. 11,025
(3) Rs. 11,250
(4 Rs. 12,000

. The ages of two friends A and B dilfer

by 2 years. Age of the A’s father is 4
times the age of B and age of B’s father
1s 5 trmes the age of A. If the swmn of the
ages of all the fouris 109 years, the ages
of A and B are respectively

(1) 7and 9
(2) 9and 11
{3y 11and 13
4y 10and 12

If the product of 2 consecutive natural
numbers is cqual to the sum of the
numbers then what are the numbers
satisfying this condition ?

(1) land 2
(2) Gand 1
(3) 2and 3

(4) Sach numbers do not exjst



RN DR

3 7 - s . . . . . “
37 %7+ % = 2x = 0 0w Z2se80nw B0mord | 43, edotes Zo 1 - 1S =AgsTen ol
{1y 0,1,2 (2)0,1.-2  RRod ﬁ":i;:i’":is;* o nsedod T A

(3) 0,0,-2 (4) 0,0.2 TENT e T )

B x—y+72=0unDTEX, y, z AH mad (1 o (2) (7% I
PYERD ivﬁ“_}r VSTJ ﬁﬁ"u X=-4 :5:?52 =10

- - M .
0 36 (2) 400 44, 5 om0, 83 000 Lol ITr s on -

(3) 16 (4) —40 %

wg»mm 520% 10 Zo.loe $2,000% F2d
39. log 4 +log 16 —log 64 = SERTeN DWTeeawd srmm 0T3S 92 -
“a

(0 (2) 1 (1) 5mcm (2) 10mem

3y —low:
(3) —log 44 (4) log 84 (3) 20w ¢ (4) =cm

2 c R o
40. 3tan*x — 7 sec x + 7 =0 SNGT, ©n
cos X = 45, vondred ¥R IYRT Suw 5 om

(1) 0 (2} 1 SNEZ, B §E2eS30 ORI DATEITD 9

(3) -1 @ (1) 24 em (2) 48 cm

41. a, b, ¢ 2000, 2ot BehBTT®T, 3F20T (3) 200 cm (4) 13 cm
ToNs 13080 oo renry ST wproE
oo o
CEEROTRA BEROITY. en 46. A 90w wows Beo FoR: 3 Mouned

(l)a=b=c¢ (2)ya=b=2¢ : _
3)a=2b=c 4)2a=b=c - T

el FRolms 5 rodndd FherdEs
I < he -£
—_ —_— ! L T oy r— o o . L.
42.a=5cm, b=12cm.c =13 ¢m A 030 B 2080 39S v 2nu
s =, 4
Y3y Raiarsz o amn Y gy _ , . _
d ‘r_r-;‘-m‘v\_.- Mbvﬁww LI fﬁkBC, SRR Fna0 1o Q-:_;i.?_ff"'\?'}“" f@ﬁ&@:ﬁj
e —

O:EF\"*K)‘—#HJ - Bao M.c“
ST dw"d&)w 12N u RN

a
A B, (ﬁ’“"" ER e R TS
=i 2sinC+5cosC =
(H 0 (212

rioed {4) 4 nized

(35 4) 7

I

ACF-11 -




T

37. Theroots of the equation x* + x> —2x =0

40.

4].

42.

are
(1 0.1,2 (2) 0,1, -2
3)0.0,-2 (4 0,0,2.

.1 %, ¥, z are three even integers such

that x - y + 7z = 0. Suppose X = ~ 4 and
z=10then xy + yz =

(1) 36 {2y 400

(3) 16 (@) 40
.logd +log 16 —log 64 =

(1) O (2) 1

(3) <iog 44 (4) log 84

If 3tan?x — 7 sec x+ 7 = Othen cos x =

(1) 0 (2) 1

@

Let a, b, ¢ represent the half the sum of

3) -1

all the angles of a rectangle, a triangle

and & square respectively. Then
(Ha=b=¢c (Q)a=b=2c
3Ya=2b=¢c (@) 2a=b=c

Consider a triangle ABC with sides
a=5cm, b=12c¢m, ¢ =13 ¢m, where
the sides a, b, ¢ are opposite to the
angles A, B, C respectively then
2sinC+ 5Scos C =

(1) 0 2) 2
(3) 5 4) 7
ACF-TI

43,

44,

45,

46.

(13-

What is the angle between the minute
hand and hour hand of a clock when
thetimeis3: 1S5PM ?

() o @ (71 )

3y 10° (4) 90°

If a circular ring of radius 5 cm is cut
and reshaped 1n to an arc of a circle of
radius 10 cm, the length of the arc is

(1} Swcm (2) 10mcm

(3) 20mcm (4) mem

If the circum radius of a right angle
triangle is 5 cm then the perimeter of
the triangle can be

(1) 24 cm
(2) 48 cm
(3) 200 cm
(4) 13 cm

If a water tap A fiils a tank in 3 hours
and another water tap B fills the same
tank in 5 hours, then the time required
to fill the tank when both A and B are
used, 18

7
(1) 2§ hours
(2y 2 hours

7
(3 lg hours

(4) 4 hours
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47. Two numbers are intheratio 1 : 2. If 15
~ isadded to both the numbers, their ratio
changesto 4 : 5. The smaller of the two

numbers 1s
(1) 2
(3) 10

(2) 5
(4) 15

48. 1f the length of the chord of a cirele of

radius 10 cm is 16 cm, then the length
of the perpendicular from the centre of
the circle to the chord 1s

(1) 8 cm

(2) 7cm

(3) 6 cm

{4y Scm

49, What is the comunon difference in the

arithmetic progression

: 1
5——x,2~—x,—1+£,—4+—3—x
2 2 2

Fa

(1) 3+ x 2) 3-=
2

3) 2-x 4

(3) 5 4y -3+x

50. How many pairs of parallel lines ¢«an be

drawn through 2 points A and B ?
(1) only one

(2} two

(3 0

(4) infinitely many

ACE-II (15

Use the following data to answer

questions 51 to 54

\/ Lovers

Singers \_/l

i

51. Players who are lovers but not singers
(L P (2) O,P,Q, R
3) O,R 4 P,Q

52. Singers who are players but not lovers
(1Y M, O (2) M
(3) M,N 4) M, N, O, R

53. Singers who are lovers as well as players
(1) O,R 2) M, O, R, P
3) O 4) O, P

54. Players who are neither singers nor
lovers
(1) L (2) M
(3) N 4) O

55. The six faces of a dice are coloured
with the colours violet {V), blue (B),
green (G), vellow (Y), orange (0), and
red (R). The different positions of the
dice are given.
# @ F @

R G \ !
The colours on the face opposite 1o
G, O and R are respectively
(1) V.B,Y (2) B,V.Y
3y BY,V (4) V.Y,B
- C‘l
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S8. PIQ G1I000RO0O00OS 1 ow 303 (4) 121

=it Fusine woiny wEdn P, Q, R, 63 )
™ 1 Deded=naripie ¢ o
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(L0010 (1) 2,5,1,21,20,25
(2) 6000 (2) 4.10,2,42.40,50
3y 0101 (3) 3.9,2,40,42,49

4y 1111 4y 3,9,2,40,42,50
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56.

Find the missing term as shown by (?)
in the following letter series.

ABZY|[CDXW |EFVU [ 2 | [JRQ]
| E— e e e

571

ACF-1I

(1) GHS'T
3 GHTS

2y GHSR
4 HGST

I'he numbers in the {oliowing 4 blocks
of squares have been tilled according
to some rule

5:_ j 9T 1519
6]2].4 | 20|f>\

UO_'—7J

The number which fits into the square

with question mark (7)
(1) 25

(2) 20

(3) 10

45

. Given the digit series

P1QOI000R0O00ST where some of
the digits are replaced by the letters
P, Q, R, S. The corresponding digits for
the letters given in the proper sequence as

one of the alternatives among the four are
(1) 0010
(2) 0000
(30101
41111

59. Read the following 4 statements. Three

of them are related in some way. Identify
the odd man out.
a) [ prefer hot coffee to tea
b) My brother takes cold drinks
¢) Thereis norefrigerator in many
houses
d) My sister says that hot drinks are
not good for health
(1) a
(2) b
(3) ¢
4) d

60. Givenanumber sequence 6, 21,41, 66,

61.

91, 131 one term of this is wrong. The

correct term required is
(17

(2) 26

(3) 96

4) 121

In a certain code “HOUSE’ is coded as
‘16, 30, 42, 38, 10" and ‘ACTOR" is
coded as ‘2, 6, 40, 30, 36°. Then the
code word for ‘BEAUTY" is

(1) 2,5.1,21, 20, 25

(2) 4,10,2,42.40, 50

(3) 3,9,2,40,42,49

(4) 3,9,2,40,42, 50
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(1) A
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x+ 76 x+1
x +43 x+4
x+24 [ x+ 11

(1) x+99
(2) x + 160
(3) x+119

@4y x+ 125
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62. One of the figures given below does not
{it with the rest of the figures. Find out

the figure.

.-\_I + | ] | -

‘The figure fit into the space marked as
s

(h

NORO
©,

®

@ L

ACF-1I

64. Find the odd man out.

(A

(2) C
(3) D
(4) E

65. Find the missing number in the figure

given below.

1+ 76

x +d435

x +24

(1) x +99
(2) x + 100
(3) x+119

4) x + 123

(19 - )
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66.

67.

68.

ACF-U

Using the data in the following problem,
answer the questions 66 to 68

Suppose due to the change in weather,
some of the {light services of the Indian
airlines between 7 countries-America,
India, Pakistan, Russia, Japan, Sri Lanka
and Austratia become either one way ot
cancelled. The following are the routes
to send parcels : America to Pakistan
then to India, Pakistan to Japan then to
Sri I.anka, America to Japan then to
Russia and then to Australia, India to
Russia then to America.

The route to send parcel from Japan to
Arnerica

(1) Japan — Australia — America

(2) Japan — Russia — America

(3) Japan — Pakistan - India— Amernca
(4) Japan — India — Russia — America
The route to send parcel from India to
Pakistan

(1) India - Russia — Pakistan

(2) India - Japan -~ Russia — Pakistan
(3) India--Russia— America — Pakistan
(4) No Route

In addition, if the route between America
and Japan is cancelled then the route to
send parcel from America to Japan is

(1) No route
(2) America — Pakistan — Russia - Japan

(3) America - Pakistan -- India -
Russia - Japan

(4) America - Pakistan - Japan

69.

70.

21 -C

Choose the correct answer for the
statements and conclusions given below

from 69 to 72

Statement:  Milk is white,

Cow gives healthy milk,
Conclusion  1: Healthy milk 1s white.
11: Only cow gives milk.
(1) Only lis implicit

(2) Only 1l is implicit

(3) Bothland IT arc implicit

(4) Neither I nor Il is implicit

Statement: Mobile Phones are

restricted to students in

colleges.

Mobile phones are very

useful.

Conclusions I : Students can use useful

rmobiles in colleges.

11 : Students can use mobile
phones outside the

college.
(1) Only I1s implicit
(2) Only Il is implicit
(3) BothIand Il are implicit

(4) Neither I nor [I1s imphecit
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71. Statement: Music 15 God.

God 1s in the temple.

Conclusion I : Music is only in the

temple.

I1: Without temple there is

no music.
(1) Only lis implicit
(2) OnlyIlis implicit
(3) Both [ and Il are implicit
(4) Neither I nor Il is implicit

72. Statement :
study.

Swudents go to the college

for getting a degree.

Conclusion I : Students have to appear

for the examination for

getting a degree.

1] - Without degree a student

can not get any job.

(1) OnlyIisimplicit

(2) Only Il is imphcit

(3) BothIand I are implicit
{(4) Neither I nor ITis implicit

73. If ‘+’ means ‘-, ‘X’ means '+,
means ‘x’ and ‘-’ means ‘&’
{{(6=3)+4]-7}x1 isequalto
1) -1 2) 15
3) 2 4) 3

ACF-1I

Examination is a part of

74.

15.

(23-C

A regular polygon of 10 sides becomes
a regular polygon of 7 sides and a

regular polygon of 7 sides becomes a
regular pentagon (= 5 sides). Then a

regular pentagon becomes

(1) arightangle triangle

(2) equilateral triangle

(3) isosceles right angled triangle

(4) square

If | stands for 1, 10 stands for2, 11 stands
for 3, 100 stands for 4, 101 stands for
5, 110 stands for 6, 111 stands for

7 then which of the following stands

for 10 7
(1) 1000 (2) 1001

(3) 1010 (4) 1100

6. If a man knows numerals 0, 1, 2, 3, 4

only. The numbers 5, 6,7, 8,9 in the
decimal system are equivalent to
respectively 10, 11, 12, 13, 14 in his
system. Then which of the following
numbers in the decimal system 1s

equivalent to the number 43 of his

system ?
(1) 123 (2) 23
(3) 32 (4) 83
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" 77. Six points A. B, C, D, Fand Flicin a

row. The point B has F and D as
neighbours. E has A and C as
neighbouring points. A does not lie next
to cither For D, C does not lie next to D,
then the ncighbourmng pomt(s) to I

1s/are

(1y B, C
(2) B,E
3y B.D
(4) only B

78. If water is called cloud, cloud is called
sky, sky is called rain, rain is called river
and river 1s called cloud, then in which
of the following do flower lotus live ?
(1) sky

(2) cloud

(3) rain

(4) 1iver

79. ‘If itrains and [ go to the library then [

read’. The converse of the implication is

(1) If Tread then itrains or I go to
library

(2) If it rains then I go to the library
or [ read

(3) If [ read then it rains and I go o
library

(4) If it rains then 1 go to the Itbrary
and [ read

ACF-11 i25 -

80. *If a man can cat or drink then he 1s
healthy’. The contrapositive of this
implication is |
(1) If a man is healthy then he can eat
or drmk

(2) TIf a man can nol eat or dnnk then
he 1s healthy

(3) If a man can not eal and drink
then he is not healthy

(4) 1f a man is not healthy then he can
not eat and drmk

81. The negation of the statement ‘If
Ananda reads then Robert walks' is
(1) 1f Robert reads then Ananda
walks
~(2) Robert walks and Anand does not
read
(3) Ananda reads and Robert does
not walk
(4) 1f Ananda does not read then
Robert does not walk

The questions 82 to 85 based on the
following data.

Three different faces of a cube (1.e.,
faces which are not parallel) are painted
in three different colours black, white
and red. The cube is now cut twice
parallel to black tace, once parallel to
white face and 4 times parallel to red

face.

82. The number of pieces one gets is
(L) 9 (2) 12
(3) 24 (4) 30
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-83. The number of pieces that will have

exactly three faces painted is
(H 1
(3) 3

(2) 2
4) 4

84. The number of pieces that will have

exactly two faces painted 1s
(1) 2 2) 5
3)6 4) 7
5. The number of pieces that will have
exactly one face painted is

(1) 8
(3) 12

) 10
@) 14

86. The student strength of a Composite

college is given in the following tablc

Bovs Girls
Degree 2590 450
PUC 300

The ratio of girls of P.U. Coliege to the
total strength of the College is 1:3. The
number of girls in P.U. College is
(1) 300

(2) 500

(3) 1500

(4) 1000

ACF-1II
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87. Find the missing figures in the following

table.
Total

18 | X Y

22 138 | 60
Total § 40 { Z 90 1
The values of (X, Y, Z)are
(1) 12,50,30
(2) 12,30, 50
(3) 50,12, 30
(4) 30,50, 12

88. The percentage bar diagrams of families
A and B with incomes Rs. 6,000 and
Rs. 10,000 respectively are as follows:

120% '1

100%

80%
60%

M| Others
¥ Food

40%

20% "

o3

Family A spends amount on

food compared to family B.
(1) more

(2) less

(3) equal

(4) double




) L

80, =033 W¥BB o2 F0TE) BHBOINT BORO 96. 1.ow HRDRAET ch:@rﬁ@d ﬁ&aée:ao%ﬁ%b

- 67. 25 QmRFMY ©ERTR) T 4 Jo3

(1) 2ot (2) 0eoRe ézsg)dd, 20 m,pr e BodnRy 3o S Do

~— . 203y RNERAG, ©osned) & ;ﬁaa pStateing

OES VA e =T R
90. oT@> »e (ogive) re @%Eji’d;ﬂ WO (1) 67 (2) 60

RETT. (3) 63 @) 72

(1) R (25 gl
(3) aoeF (4) R Qe 97. A Bnmocd 100 sthwns Zoomd z2n8 10

menido. B SRwdch 150 35oTneds),
SR RGS CRTRN B8 0T o APRD B

10.6 r@od@oc‘b FoEodoRE. B ©SRod
3COTNS Koo B8 R, ? -

(1) 11 mo (2y 100
(3) 10.6™w0 (4 1050

91. & Sesmwuy ( pie chart)
e3030vR0ne Beaed 2.

(1) 0 )2
(3) 3 @) 1

92. 2500 e BIRHI 20030 &, Deare s
329 2.5 Fo. e v, e Beeddy, EiSvetalevos
5 2o, Lo, BRRoE FZR) | ! |
N A o TV DI S S
= FILE. 98 | wssered | 5 | 10 b
(1) 5000 (2) 10000 L i

(3) 2500 (4) 50000

zﬁowdocé NZoEods THE8eodd D" 10.

; i ie " . U-T"’: 9! > &3 L-l_ 6 "Th 0 li
93, 100 7 desnd a9 AT RREL 367 SFCIRNR STIF T W5, |
dne 'aa)zbg %-*:%3930@’@ AR¥RNET. 14.4 (1) 5 () 10
SERY FoNER D), ApEE 3% W) . o=
dpem R ox? . (3) 15 4 7.3 |
Fq A4 AD la) o] . . . .

(1) 144 (2) 5.76 99. roms YT B WNOOT WIWPTIWE,
(3) 57.6° @) 72° el (Rt iHa) | 8%, 27,97

‘ 9o 59 —%°, (°, 2°, ~1° QotrobT

. . i . ” odn AT AT =
G4, 2,000 AT EIRTY, INFTY sog0nse 11 - SRl N

20, 21 - 30,31 - 40. . Lengd, sy (1y -1° 2y -8
RERT, 830D (3) 0° 4y 2°
(1) it (2)9 _
. _ 100. 20w SPoNG AT DeET 080 &
3) 10 (43 95 242003 For WINE B QTRNT
£ T =) J. = 3
(1) 6’?&@5}033.@&-:&'&)
95 1002, 1007, 1008, 996, 998, 1000, 1004, 2) s Rosl 0w B
993 z5:8; 992 Ry Mesdeads Loe (3) A3 Rosdcody Y
(1) 992 (2) 1000 (4) PR wmer ZTY T RART
(3) 1008 {4) 998 g3 =€ Tty TOBOHTY

ACF-1 28 - C)




A

89. The average found using Histogram is

90.

(1) mode (2} meadian
(3) mean (4) harmonic mean

91. Pie chart is a dimensional
diagram.
(1) (2) 2
(3)3 {4) 1

92. The radius of a pie chart representing
25001is 2.5 cms. Another circle of radius
5 cms in the same diagram represents
(1) 5000 2) 10000
(3) 2500 (4) 50000

03. In a pie diagram a population of 9 lakhs
is represented by a sector making an
angle of 36°. Whatis the angle made by
the sector representing a population of
14.4 lakhs ?
(1) 144° (2) 5.76°
(3) 57.6° (4) 72°

94. Inaclassification, the class intervals are
11 - 20, 2% — 30, 31 -40,.... The
common width (interval) of the classes s
(1) 1i (2) 9
(3) 10 (4) 9.5

95. The arithmetic mean of the values 1002, §
1007, 1008, 996, 998, 1000, 1004, 993
and 992 15
(1) 992 (2) 1000
(3) 1008 {4) 998

ACF-11

(1) mean
(3) mode

{2) median
(4) geometric mean

The point of intersection of 2 ogives
gives

96.

98.

59.

100.

The mcan marks of 67 students in a
subject is 67. The marks of 25 students
are increased by 4 each while the marks
of 20 students are decreased by 5 each.
What is the mean marks after the
changes in marks are made ?

(1) 67 {(2) 60
(3) 63 4) 72

. The average weight of 100 screws of

type A is 10 gms. 150 screws of type B
are mixed with these and the average
weight of the mixed group 1s found as
10.6 gms. What is the average weight
of screws of type B 7

(1) 11 gms (2) 10 gms
(3) 10.6gms  (4) 10.5 gms
iValue ! 5 : 10 ![ 15

. L . 4

| Frequency ‘ 3 | 10 | _

The arithmetic mean for the above
distribution is 10. The missing frequency is
1) 5 (2) 10
(2) 15 4y 7.5

The following temperatures (in
centigrades} were observed at a place :
80, 203 90, _20, —SC, -—SO, OO, 203 —10.

The Median Temperature 18
() -1° (2) ~8°
(3) 0° {4y 2°

The mode of a set of values 1s the value
that occurs

(13 the least number of times
(2) the maximum number of times
(3) an even number of times

(4) 1n the middle when values are
arranged in order
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